
cg'dflgt cg'dflgt

l;=g+= cfo ;|f]t lzif{s  cfo /sd l;=g+= ah]6 vr{ lzif{s  Joo /sd s}lkmot

1 cfGtl/s ;|f]t cfo 42128500.00 1 rfn' vr{ vftf tkm{

2 g]=;/sf/ :yf=lj=z'=lg;t{ cg'bfg-rfn'_ 13985000.00 2 pkef]u÷sfof{no ;+rfng÷cg'bfg vr{ 51115000.00

3 g]=;/sf/ g=kf=lg;t{ cg'bfg -k'+hLut_ 12051500.00 3 ;]jf ;kmfO vr{ 9000000.00

4 bdsn vr{ 7100000.00

5 vfBfGg vr{ 950000.00

rfn' tkm{ 68165000.00 68165000.00

2 afXo ;|f]tsf] cfo k'+hLut vr{ vftf tkm{

g]=;=:yf=lj=z'=;zt{ cg'bfg -k'+hLut_ 26905000.00 6=01 kmlg{r/ 200000.00

g]=;/sf/ g=kf=lg;t{ cg'bfg -k'+hLut_ 8608500.00 6=02 ;jf/L ;fwg 2000000.00

:yf=oftfoft k'jf{wf/ s[lif ;8s-k'+hLut_ 2000000.00 6=03 d]zLg/L cf}hf/ tyf cGo pks/)f 1500000.00

hu]8f sf]if 12000000.00 6=04 ejg lgdf{)f 500000.00

;8s af]8{ 6000000.00 6=05 ;fj{hlgs lgdf{)f vr{ 57053375.99

gu/ ljsf; sf]if cg'bfg 3000000.00      Plss[t zx/L ljsf; ,, 65000000.00

P8LaL cg'bfg ÷ C0f 60500000.00 6=06 k"+hLut ;'wf/ vr{ 0.00

Pn=hL=;L=8L=kL= cg'bfg 1207000.00 6=07 cWoog .k"+hL=k\flj=k/fdz{ ;]jfvr{ 100000.00

hUuf /lh]i6«]zg 5000000.00 8 k'+hLut cg'bfg 680000.00

ut jif{sf] lhDd]jf/L 2312875.99 10 ;f+jf e'QmfgL 1000000.00

lhNnf ljsf; ;ldlt cg'bfg 500000.00   

k'+hLut tkm{ 128033375.99 128033375.99

s'n hDdf 196198375.99 196198375.99

l;4fy{gu/ gu/kflnsf sfof{no

cf=j= @)&)÷)&!

;|f]tut lzif{s cg';f/ ;+;f]lwt cg'dflgt cfo—Joosf] ljj/0f



cg'dflgt cg'dflgt

l;=g+= cfo ;|f]t lzif{s  cfo /sd l;=g+= ah]6 vr{ lzif{s  Joo /sd s}lkmot

1 cfGtl/s ;|f]t cfo 44972500.00 1 rfn' vr{ vftf tkm{

2 g]=;/sf/ :yf=lj=z'=lg;t{ cg'bfg-rfn'_ 14000000.00 2 pkef]u÷sfof{no ;+rfng÷cg'bfg vr{ 58528000.00

3 g]=;/sf/ g=kf=lg;t{ cg'bfg -k'+hLut_ 17455500.00 3 ;]jf ;kmfO vr{ 9800000.00

4 bdsn vr{ 7100000.00

5 vfBfGg vr{ 1000000.00

rfn' tkm{ 76428000.00 76428000.00

2 afXo ;|f]tsf] cfo k'+hLut vr{ vftf tkm{

g]=;=:yf=lj=z'=;zt{ cg'bfg -k'+hLut_ 27000000.00 6=01 kmlg{r/ 200000.00

g]=;/sf/ g=kf=lg;t{ cg'bfg -k'+hLut_ 3544500.00 6=02 ;jf/L ;fwg 350000.00

:yf=oftfoft k'jf{wf/ s[lif ;8s-k'+hLut_ 2000000.00 6=03 d]zLg/L cf}hf/ tyf cGo pks/)f 500000.00

hu]8f sf]if 12500000.00 6=04 ejg lgdf{)f 3350000.00

;8s af]8{ 6000000.00 6=05 ;fj{hlgs lgdf{)f vr{ 55144500.00

gu/ ljsf; sf]if cg'bfg ÷ C0f 5400000.00      Plss[t zx/L ljsf; ,, 198000000.00

P8LaL cg'bfg ÷ C0f 180000000.00 6=06 k"+hLut ;'wf/ vr{ 0.00

Pn=hL=;L=8L=kL= cg'bfg 16500000.00 6=07 cWoog .k"+hL=k\flj=k/fdz{ ;]jfvr{ 200000.00

lh=lj=;=÷ cGo cg'bfg 1500000.00 8 k'+hLut cg'bfg 1500000.00

hUuf /lh]i6«]zg 5500000.00 10 ;f+jf e'QmfgL 700000.00

ut jif{sf] lhDd]jf/L 0.00   

k'+hLut tkm{ 259944500.00 259944500.00

s'n hDdf 336372500.00 336372500.00

l;4fy{gu/ gu/kflnsf sfof{no

cf=j= @)&!÷)&@

;|f]tut lzif{s cg';f/ cg'dflgt cfo—Joosf] ljj/0f


